OMIUJRVIZD 3RIVNL Z SIANZDQLX -XQLRUyZ O}

(Dl

" CELFD
- RONXUHQFID " JHZF]al P JPLHQQ\ D
= \QINL )LQD4
7RS 7LPHV 3RIDQG 2SHQ %$5%$12 -6.%$ .DIDUT\QD 0.6=& %HUQI &+1
7RS 7LPHV 3RIDQG 6=&=(3%$1,%. -DURIQD 32:-%$5 2VIRZIHF
3XQNN ),1$
3R]\FID &]DV  3Nii P P P
)IQD: $
.2=32:6.% $0QD 3(CIQDVIND $48%$ %\GJRV]F
" - 25%&=(. 3DXIQD -25"$1 _UDNyZ
6=38&+$ .DIDUJ\QD 73 2/,03,-&=<. $IHNVDQG ;
%% ., (6 *DEUHID 3,A7.%$ -RQVIDQNQyZ
8/$72:-6.% $IFID 62 81,$ 2GZICFLP
6,5,*%1$12 /X.JID -25"%$1 _UDNyZ
-$1,&=(. -RDQQD 62 81,% 2GZICFP
6=&=<5%%$. .RUQHID -25"$1 _UDNyZ
ILQDE %
3/87% .1QJD &6l5 026 "gEURZD *ylQIF
12 - 26$" .DIDUJ\QD .0,7% =DEIHI]yZ
12 - $. 5RNVDQD 3(CIQDVIND $48%$ %\GJRV]F
.2.$7.2:6.$ DD -25"$1 _UDNyZ
%$58&=8&+ SHNVDQGUD 73 2/,03,-&=<. $IHNVDQG ;
%85$8&=<66.$ $ 81,$ 2GZICFLP
5=<6.$ $QQD .25025%$1 2IV]INQ
.1$3,. $0QD 3,A7.%$ &KRU]yZ
6SIDVK OHHI ODQDJHU %XUG SHJIVIHUHG IR 3RIVK 6ZLPPLQJ )HGHUDILRQ 6IIURQD



